5/20/2015 Print Test

PRINTABLE VERSION

Quiz 9

You scored 100 out of 100

Question 1

Your answer 1s CORRECT.

State the "helper" graph that can be used to assist in graphing the following function:

Ff(x) =9 sec [%x] + 6

Y fw=ssa(+x)+6  Helpr graph
flixll=9tan[ x]—l—é ‘le§=°|ws(_";x)fb

1
3

f)  None of the above.
Question 2

Your answer 1s CORRECT. Jhave Cos (X) =0

Which of these is an equation of one of the asymptotes of the following function?

/‘1" >  Cos\)=0
= il - 3
F(x) ?sec[ﬁx]+3 x._‘_IE, _IE
X X = 3
wmi g > =T
a) 4 b
LY =L z,,(=181'r
b) © =0T X= 3w X=qr
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) x=3
@ =3
e) rX=nm

f)  None of the above.

Question 3
Your answer 1s CORRECT.

Find the horizontal shift for the following function:

Flx)="7zec [%:ﬂ:x—l— l’ﬂ:]

4
1 C Ly
e f -
o4 =M _-73.2 =
® L 4 m
by 4 laft 2
® =
Q) % right
%TI: right

e)
f) = None of the above.

Question 4
Your answer 1s CORRECT.

Which of these is an equation of one of the asymptotes of the following function?

Flx) =06 zec [%:ﬂ:x—l— %’ﬂ:]

x=2n
a8

a)
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T
x=i’ﬂ: ™ T _ I 5x+:|‘.-[|:
16 — Xt ==
b) 5 4
T -
B r X s*°
¢) 4 3_-)(‘.'. &
- .S X =
. LT
d) 4 X =
== S
4

f)  None of the above.

Question 5

: s LQ) =0
Your answer is CORRECT. wwre >

Which of these is an equation of one of the asymptotes of the following function?

flx)=-5cot(5x) =2 s (xXd)=o
X= D) v
@ x=%ﬂ: Sx=o0 Sx=T
X=0O X= 10
. =
b) 10
x=-L
c) 10
x=—L
d) 20
x=-L
e) ]

f)  None of the above.

Question 6

Your answer 1s CORRECT.

w

n

I-gl +F /|

gy *
3w

Give an equation of the form f(x) =4 tan(B x - C) + D which could be used to represent the given
graph. (Note: C or D may be zero.),
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refled over x-axis

c . I
2Zc=2m b=1
c DT
\ -
| ! | | | - B2
™ | T x| 3k r
2 4 ord § 2 g B=2
_-1—
-3 o o
4

Flx)=-3tan (2x—7) + 1
by~ F(x)=-3tm (2z—m)

¢ O flx)=-3tn (2x)

d) O flx)=-3tan (x+2) + 1
o Jlx)=-3tn (2x—m) — 1

f) =~ None of the above.

Question 7
Your answer 1s CORRECT.

Give an equation of the form f(x) =4 csc(B x - C) + D which could be used to represent the given
graph. (Note: C or D may be zero.)
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Peed = 2T
B

T=2m
TXB

By = 2T

B =2 | f

¢ . &k
-Z"X’q
4 c=2iT

C=T

f)  None of the above.

Question 8
Your answer 1s CORRECT.

Give an equation which could be used to represent the given graph.
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a)  flx)=cos” (x—2)

Flx)=sin " (x4 2)

I

o)  Flx)=sin " (x—2)
0 Flx)=cos” (x4 2)
o) © Flx)=tan” (x+2)

f)  None of the above.

Question 9

Your answer 1s CORRECT.

| e |
2

S'I'r\-lc -2.4'2-)-: Sin ' L D) =X

Singt =0

X=0

Which of these is a point that lies on the graph of the function that is given?

a) {—4, 2 TE}

v=arcsmn (x +2) + 7
3.—. sin~'(x+2) T

Y= sin ' (-24) + T
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L (239 gestIT o am

3-_ o+ = T

- (-2 m)
d (-2 -7
e) {D, ETE}

f) ~ None of the above.

Question 10
Your answer 1s CORRECT.

Which of these is a point that lies on the graph of the function that is given?
= taf [ vl x] =i
4 2
L. 3
Y= tan (z-5m)-3
i:n; —3] = +&v\ ( -3_."-) -3
2 U o

= ~|1-3= "4

f) ~ None of the above.

Question 11
Your answer 1s CORRECT.

Find the exact value of the following expression. Do not use a calculator. If undefined, state,

undefined.
St | Cos !
(" (5))
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24
®° s 5 Fh%yL 252
25 J
b) /24 + '} . S3y
24 1
¢) /1 3 24
d)  undefined ssn@= 24
7 25
e) 14
f) ~ None of the above.
Question 12
Your answer is CORRECT.
Find the exact value of the following expression. Do not use a calculator. If undefined, state,
undefined.
sin [ tan [ E] ]
L s
13 2
- C C- \5*. 82
a) \5 a
C = 229
byl ?
b) 15 c=13

¢)  undefined

15
@ 17
8
e) 15

f)  None of the above.

Question 13
Your answer 1s CORRECT.

Sm@-= 15

B o

The current 7, in amperes, flowing through an ac (alternating current) circuit at time ¢ 1s

1=200sin (40m ¢), where £~ 0
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What is the period?

a) 40w Pevwock = 21 - 2T - LR
C “Yomr 20

b) 200

@« '

d) 1/2011

1
e) /40

f) ~ None of the above.
Question 14
Your answer 1s CORRECT.

The current 7, in amperes, flowing through an ac (alternating current) circuit at time # 1s

[=240sin(35n¢+ "3 ), where =0
What is the horizontal shift?

a) 240 units up Prose = _C_
shifr B 3

=T
= )

b) 1105 units down

- - l - -
@ 1/105 units to the left - -—3-1'- . ; - '|"|§"
S °

d) Yo units to the right

I.m-"'z "’ 1""4- I’&P"

e) 240 units down

f)  None of the above.
Question 15

Your answer 1s CORRECT.

The electromotive force £, in volts, in a certain ac (alternating current) circuit at time ¢ obeys the

equation J A Mf“*‘“* 3

E =120 sin (140m ¢), where >0
What 1s the maximum value of £?
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5/20/2015
120
b)  16800n
¢) 60
d)  70m
e)  140n

f)  None of the above.

Question 16
Your answer 1s CORRECT.

Determine the period of the function
y=2tan(4 mx—35)

a) = p-gy.‘q,,: _T_l: = I_': -L
, 2 L ¥+
b) i
1
¢) B
1
4
e T

f)  None of the above.

Question 17
Your answer 1s CORRECT.

Determine the period of the function
v=2secidx— 1)

lTI: Pe,v;ocl = < = 211' =
® 5T

L
8

ok

b)
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C) 4
LI,
d) 4
e) 2

f)  None of the above.

Question 18

Your answer 1s CORRECT.
Evaluate the exact value of
Cios [arl::tan[m]]
1 J13 tan et = E
a) 13 |
C
15 V15 oL \ri-"l' C &: "++|
\ 2
c=1S5
¢) 196 Cos o¢ = -—'—'E:J—I-S- ¢,=\|—|s
B \,15 Jis IS
d) 14
1
e) 14 1
f)  None of the above.
Question 19 %
Your answer is CORRECT. sin@= g
L g
Simplify /. 1 X
Cos [aru::sin [—x]] e
8 b
L
where-1< 8 <1.
2
g L +x2.= e
*> LY "'K‘-

a)y O V64—1
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- G "“- X"
J 64+ 7 Cos © ..__J

1
g
b) 2

64 — 1
d) (242)
3
e) - 64 +x2

f)  None of the above.

Question 20
Your answer is CORRECT. tanot= 2
Simplify 8
SEC [arctan [% x]]
where x> 0.
8 2 3
— C' > N
a) O 64—x Ax C=x"+8
= 2 a2
i = o 3 C =XTHLY
— -6 +x
by B C=Vx>+u¢
-V X%uy4
: % J 6447 S = >

Bl

a o (2V2)

__8
e) J —6-4+J':2

f) ~ None of the above.

Question 21
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Your answer 1s CORRECT.
Evaluate
(7)
tan (sin”! \ 4 ) “+
y I
3 sing=3 =
a) 5 “+
: ls ll' 3% 42'
27
& 7 P B b~ 1,9
R 2
35 b= 73
0 % b=V2
b
d)
1
e) 36

f) ~ None of the above.

Question 22
Your answer 1s CORRECT.
Evaluate
cos (tan"! ( 3/2 ))
L 3
y 03T b= 3
3
b) ?ﬁ C-O.S ef ._2:- - ZJ'?’
Viz 13
27
¢) 5
3
yo 13V
2
w VB

®
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f) = None of the above.

Question 23
Your answer 1s CORRECT.

Evaluate: arccos(cos( %)) = @ cos L B/z.) = I
o~ G

i ’r;h.
a) 6 /"\
i,
b) &
1
e
¢) 2
1
d) 2

ok

f)  None of the above.

Question 24
Your answer 1s CORRECT.
Evaluate: arcsin(sin( %3 )) = Gregin (J_BZL ) - 1'73

L
a) 2
1.
®-°
2y
) 3
_Z
d) 3
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e) £
f)  None of the above.

Question 25
Your answer 1s CORRECT.

Evaluate: arctan(tan( %)) = e "Bn L _\'E_ ) - T/la
>

L S RN S R

1
o ton L) =

a) gl —_
5 o (T %2 2 V2 U3 3
—= T

b) 5
LI,

D ¢
_2 .

d) 6
1

e) 2

f)  None of the above.
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